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Q. 1) Answer any two of the following: (s+s)

ffitil+rrtnfrBst
Distinction between sentence and proposition

r&-qrfl 3ik arfl it 316a srs fikt I .

Distinguish deductive arguments from inductive arguments.

H"raffir a6f +t snrrrarr* .mf t raa AB('t

iii) Explain the distinction between truth and validity with the help of examples.

F.Tdr 3it{ ttrff *' fiq elq r{r6{ur cFd sffflrs t

Q, 2) a. Do conversion, obversion and contraposition of any twol (2+2+4=8)

ftq 71(r il*arf,st d' t Fr+t Ef ar qft -aJ-d, cffi 6 q.i qffid 6t.
i) Some insects are poisonous creatures.

gs€rcffitidre atltt
ii) All fairies are magical beings.

Tsfrqfufdr6$crufitt
iii) No commandos are compassionate people.

Eit€nqi$EqEaerrffHt
iv) Some children are prodigies.

2

i)

ii)

+-oaEtF+aergrfit



3304

b' lf "No robots are humans" is true, what can be inferred about the truth or falsity of its
opposites? (3)
qE "ssfr AH tq {at * R(, rrk{rrfi t, Fs t dt fsfi Hrefi d-ff + {dt fi
art fr wr rgara irnqr .,n {Frrrr t.2

Or
Define a term and explain its distribution.
trE +i gftsTrfrfr 6t 3itr Fs* atF *r eqr€qr 6t I

c. lf "some diamonds are valuable stones" is true, what can be inferred about the truth and
falsity of the following; (Do any two) (4)

uE "y-s 6tt firrA c-r:r t I " x-dr t,d trt tr\' mr a-aleqt t' rd. t Ert d wr
3r€rIrdI ilrnqr ar s+-ar t' {rir€ d Tt)

i) No diamonds are non-valuable stones.

+t$ fir :t-r-te-aa rdrr n€t t I

ii) All valuable stones are diamonds.

{eftffirmfinHt
iii) Some diamonds are not non-valuable things-

gofrtft-ryr*mr*gdrfftr
Or

h(plain the traditional square of opposition.

qrtqtrfr fdts a?t q{ (rfi TiETca frqofr frEet

Q. 3) a. Translate the following propositions into standard form categorical
propositions: (Any four)

3

(4)

P.T.O.



3304 4

ffiEa ilftt-d' al rat. qra-+- 3n+.R f il{d r (6t$ qrr 
}

i) No rectangle is circle.

ii)

+t$sm-a1ta-fftr
Only winners can attend the function.

€ar{t6*ffiffidrUun*o6r+dtt
A few butterflies are multicoloured.

g-uF-atuf a-grzfrfff6r
Not many guests stayed for dinner-

rra *'sri * fr(' sar6 f5ara ffi r't t

Every dog has its day.

rrgfra;rEaarartt
Heritage buildings should be preserved.

tf{-s Ffrrrd} 6} :irka fuqr srar qrfr(' t

iii)

iv)

v)

vi)

b. Reduce the following syllogism into its standard form indicating its mood & figure; and

check its validity using 6 rules. Ilo any one. (4+3)

maEa ;qr+EBd +t qEr6' 3{16rt f a-ffi(' aqr rssr BnE fti 3{r{fr E-drd, 3it{ 6

ftq+lt reqr S{r4I *erar fr qiq*t :

1) No surfers are priests, because all priests are men and some surfers are not men.

+.tg €6.{ :-drt ilS t q{ittu €'rfr :-drtr gw t $tr gc g6t Trc ilfr t r

2) Some authors are feminists, since some women are authors and some women are
feminists.

+-s *q+ arffi t elFs Tiratrdr{tsn t 3ik 6E affi arffi t r

Or
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j;lJll" *"d'tv of the followinS catesoricat svflogisms using venn diagram technique. Do
(5)

frqfrfua f r+ fr;fi ;1 

-=*-_. 
6r Atr61 736q", qr qfrHq i-d ffir a_{rrfrhlr

i) oAo-1

ii) Ero-2

iii)M.q-3

iv) lAl-1

Q.4) a. Symbolize the following. Do any four.

ffika m sft*+-{ur at r +i$ur +tr
(6)

il. Plants will not survive if they are not watered everyday. {S,W)
qfd qhf 6) cfre-d qEft rff ftqr dre-{r * a frft-d rfi {Fr}
ii). Peacocks will dance if and only if it rains, (D, R)

It{ art', qfr 3lk +ra qfr ilfrtr dfi I

iii). It is not the case that neither Mohan nor sohan attended graduation ceremony. {M,s}
t,sr rff t fr a il atea dk a & stfn rarffi {rsr0f fr erft-fr St'tiv). Both candies and tobacoo are bad for your teeth but not chewing gums. (C,T, G)
#fr 3tk dq ffi 6t 3{rq+ ardt *. fts rrtn fiiftaq5us rfi. r

P.T.O.
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v). lf you workout everyday for three months' then You will loose 6 kgs and gain muscle

sirenglh. (w, L, G)

rm r$q fid rr6ri ir+' tfl ar r6-Jrrsc fl e e at $c'6 ffi aaa 6ri 6tn 3itr

rs-eq#Erfrfistnt
vi). Unless demands of the workers are accepted, production will not start' {D' P)

s{ a-+- a-s{fi fr fl it a-6 rilfr aIszt, Tfl rdrd gF a-fl- dfrlr I

b. Check the validity of the given argument by Truth table method' Do any one' (51

m*ma gffi * t Rilh q{' ffr ttrarl:itqar Tdq-dr sRufr hfr r-dRr aqltrd fi t

i). (-p v q). r
..rq v r / .'. ^,pr r

ii). (p I q) r -r
p)dr /,..-prq

Q.5) a. Check validity using shorter truth table method. (Any one) (5)

aqrr g-sar srufr a-dnr atrdr/3{&trdr ft aiq +t t t*t5 p-*t
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i). (p= -q)
(q 

= -r) / :. 1*p>rl

ii). '(p 
v ^,q) . r

. (-q. r) / .'. (p . -q)

b' Use truth tabre method to determinethe fofiowing statement forms as tautorogy, serf-
contradictory or contingent. 

(6)
scqdr sRUfr EE EEm q fttf ft -a +t fu arfrEa ifi.?rd {sm, +iurc+ w aflqrfr 6 .

[(-p . q)v (-q . rll r [p r q]

Or

[(p v q) . (q v r)] = [(-p v-q)]

7

Q.5) Explain any two informal fallacies giving examples:

f+d A srdtq-qrfrr' a{rdtd' mr Edra +t r

i) complex euestion
5-drRa

ii) Arguments from ignorance

aar+qd-fril{dc
iii) Appeal to piry

au 
"rra-";r+atv

(s+s=10)

P.T.O.
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(5oo)

iv) Petitio PrinciPii.

rr-6.afrlc
v) FallacY of comPosition

flrf6ir4rdc


